y-H2AX (CTRL,8G,10G,25G,40G)

1.

Merge

CTRL 8G 10G 25G 40G

B-actin: 42kDa

- W

CTRL 8G 10G 25G 40G

B-actin: 42kDa

- hid

- - [-H2AX: 15kDa
— —

CTRL 8G 10G 25G 406G




2. (repeat)

CTRL 8G 10G 25G 40G

Jp— i — gt - E— B-actin: 42kDa

- - . —
P - a e oax 1500
i —- -

merge

CTRL 8G 10G 25G 406G




3.(repeat)
CTRL 8G 10G 25G 40G

W s, e RS ociin: 42kDa

CTRL 8G 10G 25G 40G

I-H2AX: 15kDa

-.' --..-'-5

CTRL 8G 10G 25G 40G

| B — A — I —————— . Qi —




4.(repeat)

CTRL 8G 10G 25G 40G

B-actin: 42kDa

.

[-H2AX: 15kDa
| m——

Merge

CTRL 8G 10G 25G 40G




y-H2AX (CTRL.25G.25G+A.40G.40G+A)

1.

CTRL. 25G. 25G+A. 40G. 40G+A

B-actin: 42kDa

I-H2AX: 15kDa

CTRL. 25G. 25G+A. 40G. 40G+A -

B-actin: 42kDa
— — ———— -

Merge

CTRL. 25G. 25G+A. 40G. 40G+A




2. (repeat)

CTRL. 25G. 25G+A. 40G. 40G+A

B-actin: 42kDa

[-H2AX: 15kDa

PUNS—
— ———— —— ?

CTRL. 25G. 25G+A. 40G. 40G+A
y —— 0
: GEED W Sm— 35KDa

25kDa
20kDa

-

v e —— ‘ ~ 15kDa

o 10kDa




3.(repeat)

CTRL. 25G. 25G+A. 40G. 40G+A

— — — S e [(-actin: 42kDa

s [-H2AX: 15kDa
a— N, W
- = —

CTRL. 25G. 25G+A. 40G. 40G+A

— o g —




2. ANXA2-Day14(CTRL,8G,10G,25G,40G)

1.

CTRL 8G 10G 25G 40G

ANXA2: 36kDa

2. (repeat)

CTRL 8G 10G 25G 40G

B-actin: 42kDa
- ‘
o-p W .



3.(repeat)

TRL 8G 10G 25G 40G

B-actin: 42kDa

4 i -
pe— ANXA2: 36kDa




4.(repeat)

CTRL 8G 10G 25G A(

B-actin: 42kDa

—

Merge

10G 25G  40G

(ol

B-actin: 42kDa
D o— —

ANXA2: 36kDa
&~
el

-
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3.ANXA2-7DAYS

1.

TRL 8G 10G 25G 40G

B-actin: 42kDa




50kDa

40kDa

3.(repeat)




.
.

CTRL 8G

20kDa
15kDa

10kDa .

10G  25G

B-actin: 42kDa

40G

CTRL 25G. 25G+A. 40G. 40G+A

—_

LC3-I: 14kDa
LC3-II: 16kDa



2.(repeat)

CTRL. 25G. 25G+A. 40G. 40G+A

20kDa | C3-1: 14kDa
‘g"
15kDa . -1I: 16kDa
10kDa -

1.2. Merge

)
B-actin: 42kDa 50kDa
40kDa

25G. 25G+A. 40G. 40G+A

3.(repeat)\

CTRL. 25G. 25G+A. 40G. 40G+A

-



4. (repeat)

CTRL. 25G. 25G+A. 40G. 40G+A

B-actin: 42kDa

LC3-1: 14kDa
-- ‘ -‘ LC3-1I: 16kDa

Merge

B-actin: 42kDa

LC3-1: 14kDa
R I

LC3-1I: 16kDa




5.(repeat)‘

CTRL. 25G. 25G+A. 40G. 40G+A

3

-1: 1.

Ed .
LC3-1II: 16kDa

6. (repeat)

CTRL. 25G. 25G+A. 40G. 40G+A

- —— —— B-actin: 42kDa

LC3-1: 14kDa
LC3-II: 16kDa

Merge




5.P62

CTRL. 25G. 25G+A. 40G. 40G+A

- ‘ ‘ e P62: 62kDa

—— — SRS e e B-actin: 42kDa

Merge

CTRL. 25G. 25G+A. 40G. 40G+A




2.(repeat)

CTRL. 25G. 25G+A. 40G. 40G+A

P62: 62kD
70kDa - - — - — g

- —

50kDa - s B-actin: 42kDa

40kDa
35kDa

Merge




-
" CTRL. 25G. 25G+A. 40G. 40G+A

P62: 62kD

70k

T - ———
50kDa -

o — — —— —

35kDa. B-actin: 42kDa




